MULTIPLE CHOICE: Non-Calculator

1. Suppose g(x)=2sinx—3cosx. Then g'(x)="?

moowp

2sinx+3cosx
2cosx—3sinx
2cosx+3sinx |
—2cosx+3sinx

—2cosx—3sinx

2. Let f(x)=2sinx. Then %(f’(x)):

mo o wp

2cosx
2sinx
—2cosx
-2sinx

None of the above

3. Suppose v(t) =b3r"'_costr. Then v'(1) =(c o5

m olo|m p

—9¢? sint

9¢% sint

91% cost —3¢° sint |
912 cost + 3¢ sint

9¢* cost +9¢° sint

a [ 3x? ):
dx\ tanx J »
A.

B.

3x*(3tanx + xsec’ x)

tan’ x
9x’
sec’ x
3x*(3tanx + xsec’ x)

sec” x
3x?(3tanx — xsec’ x)

sec’ x
2
3x*(3tanx —xsec” x) |

tan® x



